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Negative Tetromino by Serkan Yurekli
Theme: Words

Rules: Divide the white cells into tetrominoes so that no two regions sharing
an edge are the same tetromino (L, I, O, S, or T considering rotation and reflection).
Regions may contain at most 1 cell with given letters; regions with such a cell CANNOT have
the same tetromino shape as any of the letters in that cell.
ANSWER ENTRY: Enter the letter of the tetromino region for each cell in the marked rows,
separating the rows with a comma. Use capital letters (LIOST).
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